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FREE RESPONSE:
Show all work for each of the following in the space provided. [Value = 34]

. . 3 .
1. Joshua simplified %/1024 as shown: Correct Solution [3]

31024 = 33 318 v LINE 1 - T’
={j§.3125.{f§)< LINE 2 r Iz%

-2.5.33 LINE 3
1033 LINE 4 ; ‘7 RN
a /T 3!2\
6
(a) Identify the line where Joshua madeanerror:& ( \( x \} )
<

(b) Provide the steps for a correct solution in the box provided abovc(. % )

2. Express the following radicals as exponents and use exponent laws to simplify the expression:

Lo () (V) B
n
J X vy, R Lt
X - X ) '6
) R
- n S e+
X X Ly ¥
3. Arrange the following in order from least to greatest: K 3 7‘ \ﬁ-l [3]
., ot ()
2.1 04,72y, (.19

4. Express each of the following as radicals in simplest form: [6]

(a) V48 (b) —4+/300 (c) V96

Vie x J3 - fVimg 3 \sﬁ:x\g/}
/3 ‘Y(/oﬁ§ g
RO /3



Untitled(12447).notebook September 24, 2014

5. Simplify each of the following expressions. Express your answers using all positive exponents. [7]
———————

24x73(2y73)3
(—2xy®)?

U _ -
QL HRRLLC Y,
%l “p\a-lv_ _ /c?z X’] -q
DIx'> = d_Js
- %X‘H’f Y
Y <

6. Simplify the following expression. Express your solution using all positive exponents: [6]

(a) (—3x%y~3)*

(C2x%y) (2x 7y 3'3 /

(—3xy®)2(27x~6y3)" 3

[
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T h\)( 30
|>(" )EOJA —X

yz)

7. Use your knowledge of exponents to evaluate the following expression. All work must be clearly shown!
[6]

1
2,72 2, 27\73 1
(g) +6w°——+\f12 ( ) +(25 —9)2
16
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Polynomials

By now. you should be familiar with variables and exponents. You may have dealt with expressions like

3x* or 6x. Polynomials are sums of these expressions. Each piece of the polynomial, each part that is
being added. is called a "term”. Palynomial terms have variables to whole-number expaonents; there are
no square roots of exponents, no fractional powers, and no variables in the denominator. Here are some

6x 2

MOT a polynomial term

This has a negative exponent.

1,

MOT a polynomial term

This has the variable in the
denominator.

&
ﬁ

MOT a polynomial term

This has the varniable inside a
radical.

4y

a polynomial term

Here is a typical polynomial:

Coefficient - a number

in front of a variable

{\170‘@1"\'\0\\ = l R

—_—

2:’\’"’"‘ﬂo\\ o

ek, 1

2 NRmMs
X -7%3

 TERMS are separated by\a

Constant - a number with no variable

ition or subtraction signs.
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Expanding and Simplifying:
e Collecting Like Terms

Probably the most common thing you will be doing with polynomials is
"combining like terms". This is the process of adding together whatever terms
you can, but not overdoing it by adding together terms that can't actually be
combined.

Terms can be combined if they have the exact same variable part. Here is a
rundown of what's what:

LIKE TERM - exact same variable(s)

Examples:
1) 3x +4x
=7)< )27 +3x -4 I +x+9

F x5

3)10x° — 14x* + 3x —4x° +4x — 6
)
ox_ (fx—+7x—-G

4) 4y —[3x+ By —2x {2y -7} ) —4x + 5]



	Page 1: Sep 24-9:58 AM
	Page 2: Sep 24-10:09 AM
	Page 3
	Page 4
	Page 5: Feb 1-10:09 PM
	Page 6: Feb 3-10:35 PM

